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BE 40 44 -4 610 625 -15 375 414 -39 985 1,039 -54
ARE 2 2 0 10 8 2 9 10 -1 19 18 1
TRy R F— 1 1 0 6 6 0 6 5 1 12 11 1
T—FzlU— 1 1 0 6 3 3 9 9 0 15 12 3
FVIvF—Yrs 0 0 0 0 0 0 0 0 0 0 0 0
HX— 0 0 0 0 0 0 0 0 0 0 0 0
ZFE 80 81 -1 831 886 -55 372 386 -14 1,203 1,272 -69
AR 2 2 0 4 7 -3 18 14 4 22 21 1
Bk 4 4 0 29 39 -10 28 33 -5 57 72 -15
ElpE] 81 89 -8 711 752 -41 375 354 21 1,086 1,106 -20
Hoh— 153 158 5| 3,074 3,290 -216 314 330 -16 3,388 3,620 -232
DIRFEE 2 2 0 42 37 5 22 17 5 64 54 10
kg 1 1 0 0 0 0 18 20 -2 18 20 -2
HglE 1 1 0 16 9 7 8 7 1 24 16 8
ZE 44 47 -3 378 387 -9 170 194 -24 548 581 -33
AR=YF xR 1 1 0 2 2 0 1 1 0 3 3 0
=1y 1 1 0 4 6 -2 6 6 0 10 12 -2
V7 hFZR 21 23 -2 176 181 -5 231 274 -43 407 455 -48
V7 RN —R—L 1 1 0 0 0 0 8 3 5 8 3 5
V7 hR— 5 4 1 1 0 1 83 75 8 84 75 9
=R 19 19 0 176 154 22 149 143 6 325 297 28
T4 —R—I 0 0 0 0 0 0 0 0 0 0 0 0
N 2 1 1 0 9 9 0 14 13 1 23 22 1
Ry FHR—L 3 3 0 18 21 -3 5 9 -4 23 30 -7
1 ERT 1 1 0 0 0 0 11 9 2 11 9 2
BAZEE 2 2 0 12 10 2 7 5 2 19 15 4
Ny RR—L 3 3 0 53 47 6 32 20 12 85 67 18
IRy fR—=L 93 102 -9 1,050 1,080 -30 852 965 -113 1,902 2,045 -143
AN A 2 2 0 2 2 0 19 23 -4 21 25 -4
NEIv by 21 21 0 200 180 20 277 273 4 477 453 24
NL—FR—L 124 130 -6 583 558 25 1,128 1,147 -19 1,711 1,705 6
TA4X2T R — b 0 0 0 0 0 0 0 0 0 0 0 0
Ry — 3 2 1 38 25 13 23 5 18 61 30 31
Ry 1 1 0 9 11 -2 1 1 0 10 12 -2
SRRy RR—L 65 65 0 896 846 50 668 606 62 1,564 1,452 112
T=AL—FK—n 0 0 0 0 0 0 0 0 0 0 0 0
LS ZASETEY) 0 0 0 0 0 0 0 0 0 0 0 0
Bk () 5 5 0 77 90 -13 2 2 0 79 92 -13
A EFIK 266 280 -14| 4,170 4,449 -279 347 367 -20 4,517 4,816 -299
SOE—7y hR—L 7 6 1 125 110 15 25 19 6 150 129 21
Be EHH 22 21 1 360 329 31 304 312 -8 664 641 23
J—K—2% 0 0 0 0 0 0 0 0 0 0 0 0
Z Dt 5 5 0 22 28 -6 15 19 -4 37 47 -10

G 1,084 1,132 -25| 13,700 14,187 -487 5,932 6,090 -158| 19,632| 20,277 -645
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R4 R3 =R R4 R3 =R R4 R3 =R R4 R3 =R

BE 157 189 -32 15 12 3 104 116 -12 276 317 -41
ARE 3 3 0 1 0 1 2 3 -1 6 6 0
TRy R F— 3 3 0 0 0 0 2 2 0 5 5 0
7—Fzl— 3 4 -1 0 0 0 2 2 0 5 6 -1
FUTvF—Urs 0 0 0 0 0 0 0 0 0 0 0 0
HX— 0 0 0 0 0 0 0 0 0 0 0 0
ZFE 225 222 3 12 18 -6 42 47 -5 279 287 -8
SRR 6 6 0 0 0 0 0 0 0 6 6 0
Bk 18 17 1 3 3 0 11 11 0 32 31 1
ElpE] 243 269 -26 22 26 -4 108 114 -6 373 409 -36
Yy h— 458 466 -8 42 42 0 234 251 -17 734 759 -25
DIRFEE 6 6 0 0 0 0 0 0 0 6 6 0
kiR 2 2 0 1 1 0 0 0 0 3 3 0
HglE 4 4 0 0 0 0 2 4 -2 6 8 -2
eS| 158 168 -10 22 17 5 39 50 -11 219 235 -16
AR=YF x> NZ 3 3 0 0 0 0 0 0 0 3 3 0
-y 3 3 0 0 0 0 4 4 0 7 7 0
V7T 63 69 -6 4 4 0 17 15 2 84 88 -4
V7 RN —R—L 3 2 1 0 0 0 1 1 0 4 3 1
V7 hR— 17 13 4 3 1 2 3 7 -4 23 21 2
Sk 57 56 1 6 5 1 16 15 1 79 76 3
FA—R— 0 0 0 0 0 0 0 0 0 0 0 0
N 2 4 4 0 0 0 0 3 3 0 7 7 0
Ry FR—L 6 4 2 0 2 -2 3 2 1 9 8 1
BERT 5 5 0 0 0 0 0 0 0 5 5 0
BAZEE 9 9 0 0 0 0 0 0 0 9 9 0
Ny RR—L 6 9 -3 0 0 0 1 2 -1 7 11 -4
IRy fR—=L 265 285 -20 38 27 11 170 203 -33 473 515 -42
AN A 3 5 -2 1 0 1 0 0 0 4 5 -1
NEIv by 68 68 0 4 4 0 8 13 -5 80 85 -5
NL—R—L 386 411 -25 29 28 1 115 108 7 530 547 -17
TAFIT R — 0 0 0 0 0 0 0 0 0 0 0 0
Ry — 12 10 2 2 0 2 3 0 3 17 10 7
Ry 3 3 0 0 0 0 0 0 0 3 3 0
SRy bR—L 242 250 -8 41 39 2 185 176 9 468 465 3
T=AL—FK—n 0 0 0 0 0 0 0 0 0 0 0 0
BHEH 0 0 0 0 0 0 0 0 0 0 0 0
BEk (=) 12 12 0 2 2 0 3 3 0 17 17 0
BRI BFER 1,243 1,376 -133 93 98 -5 208 223 -15 1,544 1,697 -153
STE—7y FR—L 18 16 2 1 1 0 6 6 0 25 23 2
Be E S 80 84 -4 7 5 2 25 24 1 112 113 -1
J—K—=%F 0 0 0 0 0 0 0 0 0 0 0 0
Z Dt 14 14 0 0 0 0 5 3 2 19 17 2

&t 3,808 4,070 -262 349 335 14 1,322 1,408 -86 5,479 5,813 -334




